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Question 1
Question Type: MultipleChoice

What class of architectural information within the Architecture Repository defines processes that
support governance of the Architecture Repository?

Options:
A- Architecture Capability
B- Architecture Landscape
C- Architecture Metamodel
D- Governance Log
E- Reference : Library

Answer:
A

Question 2
Question Type: MultipleChoice

Which phase of the TOGAF ADM is the first phase directly concerned with the planning for the
implementation of the target architecture(s)?

Options:
A- Phase D
B- Phase E
C- Phase F
D- Phase G
E- Phase H

Answer:
B
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Question 3
Question Type: MultipleChoice

Scenario

Please read this scenario prior to answering the Question

You are serving as an Enterprise Architect at a large aerospace company. It designs,
manufactures and sells civil and military aviation products worldwide and manufactures in
multiple countries both inside and outside of the European Union. The company has grown
rapidly by acquisition and has inherited numerous different procurement processes and related IT
systems.

Recently, several procurement processes, within the civil aviation business, have has problems
related to the timing of purchases, which has led to excess inventory. The Vice President in
charge of Supply Chain Management has made the decision to consolidate and reduce redundant
procurement processes and systems. He has committed to the CEO that the business will move
to a "Just-in-time" procurement system so as to keep inventory costs low.

The TOGAF standard is used for internal Enterprise Architecture activities. At present, there are
no architectural assets in the Architecture Repository related to this initiative. All assets will need
to be acquired, customized, or created from scratch. The company prefers to implement
commercial off the shelf package applications with little customization. The CIO, who is the
project sponsor, has stated that she is not concerned about preserving the existing procurement
processes or systems.

This project is using an iterative approach for executing the Architecture Development Method
(ADM). The architecture development project has completed the Architecture Vision Phase and
has started a number of iteration cycles to develop the Architecture. As a packaged application is
being considered, the next iteration will include both the Business and Application Architectures.

Stakeholders concerns that should be addressed by these architectures include:

1. What groups of people should be involved in procurement-related business processes?

2. What applications will these groups use once the architecture development is complete?

3. What non-procurement applications will need to be integrated with the new procurement
applications?

4. What are the dependences between the non-procurement and the new procurement
applications?

Refer to the Scenario

[Note: You may need to refer to the Architectural Artifacts chapter, section 31.6 (located in Part
IV) within the reference text in order to answer this question.]
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You have been asked to identify the most appropriate catalogs, matrices, and diagrams to
support the next iteration of Architecture development.

Based on the TOGAF standard, which of the following is the best answer?

Options:
A- You would describe the Baseline Business Architecture with a Baseline Business Process
catalog, and an Object lifecycle catalog. You would describe the Baseline Application Architecture
with an Interface catalog and a Technology Portfolio catalog.
B- You would describe the Baseline Business Architecture with an Organization/Actor catalog, and
a Business Service/Function catalog, and a Data Entity/Business Function matrix. You would
describe the Baseline Application Architecture with an Application Portfolio catalog and an
Application/Function matrix.
C- You would describe the Target Business Architecture with a Business Interaction matrix, and a
Business Service/Function catalog. You would describe the Target Application Architecture with
an Application Communication diagram, an Application/Organization matrix, an Application
Interaction matrix and an Interface catalog.
D- You would describe the Target Business Architecture with a Business Service/Function catalog,
an Organization/Actor catalog, and Data Lifecycle diagrams. You would describe the Target
Application Architecture with Application Communication diagrams, an Application Interaction
matrix, and an Application Portfolio catalog.

Answer:
D

Question 4
Question Type: MultipleChoice

According to the TOGAF Document Categorization Model, which category is for resources NOT
referenced by content within the other categories?

Options:
A- TOGAF Core
B- TOGAF Extension
C- TOGAF Mandatory
D- TOGAF Recommended
E- TOGAF Supporting
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Answer:
E

Question 5
Question Type: MultipleChoice

What component of the Architecture Repository represents architecture requirements agreed
with the Architecture Board?

Options:
A- Architecture Requirements Repository
B- Reference : Library
C- Architecture Capability
D- Governance Log

Answer:
A

Question 6
Question Type: MultipleChoice

Complete the sentence. The key purpose of Gap Analysis is to _____ ActualTests.com

Options:
A- establish quality parameters for the architecture
B- identify potential missing or overlapping functions
C- validate nonfunctional requirements
D- identify commercial building blocks to be purchased
E- determine the required service levels for the architecture

Answer:
B
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Question 7
Question Type: MultipleChoice

Complete the sentence. In a gap analysis, a building block that appears in the Target Architecture
but does not appear in the Baseline Architecture indicates _____

Options:
A- nonconformant solution building blocks
B- an error has occurred and the architecture must be re-evaluated
C- requirements have not been properly documented
D- functionality that should be eliminated
E- a new function that must be built or procured

Answer:
E

Question 8
Question Type: MultipleChoice

Which one of the following best describes a primary use of the Architecture Vision document?

Options:
A- A checklist for compliance reviews
B- An evaluation tool to select vendors to conduct a proof of concept demonstration
C- A tool for calculating detailed cost estimates
D- A tool for project planning the implementation activities ActualTests.com
E- A tool for selling the benefits of the proposed capability to stakeholders

Answer:
E
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